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y =cos(msin™" x) 203 & F -
(i) A=x*)yp2 =20+ Dxy,, +(m* —n")y, =0

0, if n be odd

—m*(2? —mz)(42 —m?)--{(n-2)>* —mz}, if 7 be even

(i) (o ={
af y =cos(msin™ x) WY, FAT TR

@) (1= x7)Ypen =20+ 1)xPyy +(m* —n)y, =0

. o , It nodd YU
(&) o = —m? (2 —mP)(@A = m?)--{(n—2)> —m*} TR neven AT |

Find the asymptotes of the cubic x* —2y° +xy(2x — y) + y(x — y) +1=0.
x> =237 +xp(2x - y) + y(x — y) +1 =0 TG 307 SN 7 i
x3—2y3+xy(2x—y)+y(x—y)+1:O B I Wi MaTd |

Find the envelope of the family of straight lines 4a” + Ba+C =0, where « is
the variable parameter and 4, B, C are linear functions of x, y.

Ad* +Ba+C =0, @A -3 sfaae~el serif @k 4, B, C T x, y-a9
FRNARS S (linear functions) FEAE TR envelope e Tl

TS VEESH! T8 Ao’ +Ba+C =0 & IRWsH MH| o variable Urect
HﬁA,B,C,xaﬁyﬁmWﬁl

Show that the equation of the «circle on the  sphere
z +y2 +2° —-2x+4y—-6z+3=0, whose centre is (2,3.-4) are
2 +y?+22-2x+4y~62+3=0 & x+5y-Tz=45=0.

@dte @, x*+y*+z7-2x+4y-6z+3=0 Ol ToARES J& I &=
(2,3, —4) ORAAN x° + 32 +22 - 2x+4y—62+3=0, x+5y-7z—45=01

2,3,-4) BE WG MABR B ARl FEBRI
X4y 422 -2x+4y—6z43=0 AN x+5y-7z—-45=0 B Wl FAT TR

The arc of the Cardioid »=a(l+cosé) specified by —%SH S%, is rotated

about the line 6= 0. Find the area of the generated surface of revolution.
r=a(l+cosé), —%sesg Cardioid -3 F&51a 0= 0 RETCRIR A Tlwa
e G&o1 surface of revolution-93 CFaFe iR TN
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